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Loading 2 - Distributed loading from Rc to Rd
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Loading 1 - Distributed loading from Rb to Rd

w 10
kN

m
⋅:=Unit load ...

L 10 m⋅:=... and ...I 10
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⋅:=E 200 GPa⋅:=Settings ...
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Table 8.1 - Shear, moment, slope, and deflection formula for elastic beams

Case 2e - Simply supported beam, partial distributed load
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... solving for Rb and Rc reaction forces
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... displacement equations in matrix format
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... substituting and simplifyingyRb x( )
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... reaction due to load at RbRAb
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⋅− 0= ... taking moments about Ra
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1

2
w⋅ L⋅− 0= ... force equilibrium

Giving ... Ra
1

2
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Reaction results ... Ra 2222− N=

Rb 18333 N=

Rc 36667 N=

Rd 2778− N=
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